



Vendor Ranking

Letting: 05260203 February 03, 2026 2:00 PM **Call Order:** 004 **Contract:** E52E8
District: District 5 **Counties:** BREVARD, OSCEOLA **Fed Aid No:** N/A
Contract Time: 45 CALENDAR DAYS **Project(s):** 45605337201 (*)
Contract Desc: FC-5 Asphalt Roadway Repair

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	RANGER CONSTRUCTION INDUSTRIES, INC.	Responsive	Winning bid	\$1,847,568.91	100.00%
2	TIMOTHY ROSE CONTRACTING, INC.	Responsive	Non-Winning Bid	\$1,990,849.10	107.76%
3	PIGOTT ASPHALT AND SITEWORK LLC	Responsive	Non-Winning Bid	\$2,567,468.00	138.96%
4	GPH SERVICES, LLC	Responsive	Non-Winning Bid	\$2,883,253.48	156.06%
5	CREATIVE MANAGEMENT TECHNOLOGY, INC.	Responsive	Non-Winning Bid	\$4,167,711.10	225.58%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 05260203 February 03, 2026 **Call Order:** 004 **Contract:** E52E8
District: District 5 **Counties:** BREVARD, OSCEOLA **Fed Aid No:** N/A
Contract Time: 45 CALENDAR DAYS **Project(s):** 45605337201 (*)
Contract Descr: FC-5 Asphalt Roadway Repair

FDOT District 5
 Proposal ID No.: E52E8
 Financial Project ID No.: 456053-3-72-01
 Fiscal Year: 2026
 Counties: Brevard and Osceola
 Calendar Days: 45 Days
 Lead Time: 14 Days

This is a Maintenance Pay Item Contract.

Intent:

The work under this Contract consists of FC-5 asphalt roadway repair on various Department maintained roadways. The work includes milling, resurfacing, and minor pavement marking restoration.

Experience:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of Asphalt Paving projects, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Hot Plant Mix Bituminous Course" will suffice to meet the above requirements.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) RANGER CONSTRUCTION INDUSTRIES, INC.		(2) TIMOTHY ROSE CONTRACTING, INC.		(3) PIGOTT ASPHALT AND SITEWORK LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0005 0101 1 MOBILIZATION		(1.000) LS	79,200.00000	79,200.00	187,340.00000	187,340.00	10,000.00000	10,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC		(1.000) DA (LS)	95,200.00000	95,200.00	34,159.00000	34,159.00	10,000.00000	10,000.00
0015 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH		103,210.000 SY	2.90000	299,309.00	2.20000	227,062.00	4.00000	412,840.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 004 Contract: E52E8

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) RANGER CONSTRUCTION INDUSTRIES, INC.		(2) TIMOTHY ROSE CONTRACTING, INC.		(3) PIGOTT ASPHALT AND SITEWORK LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0020 0337 7 25 ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22		5,521.800 TN	218.20000	1,204,856.76	249.30000	1,376,584.74	345.00000	1,905,021.00
0025 0546 72 3 GROUND-IN RUMBLE STRIPS, 8" SINUSOIDAL		13.830 GM	3,200.00000	44,256.00	3,036.00000	41,987.88	2,500.00000	34,575.00
0030 0660 2102 LOOP ASSEMBLY, F&I, TYPE B		4.000 AS	2,500.00000	10,000.00	2,474.00000	9,896.00	3,000.00000	12,000.00
0035 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		1,835.000 EA	7.00000	12,845.00	6.90000	12,661.50	7.00000	12,845.00
0040 0711 11170 THERMOPLASTIC, STANDARD, WHITE, ARROW		3.000 EA	90.75000	272.25	90.00000	270.00	100.00000	300.00
0045 0711 15101 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE, SOLID, 6"		10.588 GM	6,850.00000	72,527.80	6,799.00000	71,987.81	11,500.00000	121,762.00
0050 0711 15131 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP		3.335 GM	2,540.00000	8,470.90	2,520.00000	8,404.20	5,000.00000	16,675.00
0055 0711 15201 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, YELLOW, SOLID, 6"		3.145 GM	6,560.00000	20,631.20	6,517.00000	20,495.97	10,000.00000	31,450.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 004 Contract: E52E8

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) RANGER CONSTRUCTION INDUSTRIES, INC.		(2) TIMOTHY ROSE CONTRACTING, INC.		(3) PIGOTT ASPHALT AND SITEWORK LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN								
0001 ASPHALT REPAIR (MECHANICAL) (TN			Section Totals:		\$1,847,568.91	\$1,990,849.10	\$2,567,468.00	
Contract Grand Totals:			\$1,847,568.91		\$1,990,849.10		2,567,468.00	



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 004 Contract: E52E8

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) GPH SERVICES, LLC		(5) CREATIVE MANAGEMENT TECHNOLOGY, INC.		Unit Price	Ext Amount
			Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0005 0101 1 MOBILIZATION		(1.000) LS	158,275.55000	158,275.55	200,000.00000	200,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC		(1.000) DA (LS)	166,851.05000	166,851.05	200,000.00000	200,000.00		
0015 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH		103,210.000 SY	5.29000	545,980.90	1.75000	180,617.50		
0020 0337 7 25 ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22		5,521.800 TN	330.45000	1,824,678.81	460.00000	2,540,028.00		
0025 0546 72 3 GROUND-IN RUMBLE STRIPS, 8" SINUSOIDAL		13.830 GM	2,993.58000	41,401.21	35,000.00000	484,050.00		
0030 0660 2102 LOOP ASSEMBLY, F&I, TYPE B		4.000 AS	6,778.13000	27,112.52	84,000.00000	336,000.00		
0035 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		1,835.000 EA	7.23000	13,267.05	10.50000	19,267.50		
0040 0711 11170 THERMOPLASTIC, STANDARD, WHITE, ARROW		3.000 EA	93.99000	281.97	14,000.00000	42,000.00		



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 004 Contract: E52E8

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) GPH SERVICES, LLC		(5) CREATIVE MANAGEMENT TECHNOLOGY, INC.			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASPHALT REPAIR (MECHANICAL) (TN)								
0045 0711 15101 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE, SOLID, 6"		10.588 GM	7,103.48000	75,211.65	11,200.00000	118,585.60		
0050 0711 15131 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP		3.335 GM	2,632.93000	8,780.82	4,900.00000	16,341.50		
0055 0711 15201 THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES, YELLOW, SOLID, 6"		3.145 GM	6,808.25000	21,411.95	9,800.00000	30,821.00		
0001 ASPHALT REPAIR Section Totals: (MECHANICAL) (TN)				\$2,883,253.48		\$4,167,711.10		
Contract Grand Totals:				\$2,883,253.48		\$4,167,711.10		



Tabulation of Bids

Letting: 05260203 February 03, 2026 **Call Order:** 004 **Contract:** E52E8

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.